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Question Number : 1 Question Id : 2549896871 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a type of microcomputer?

Options :

1. ¥ Inkjet
2. * Desktop
3. ® Laptop

4. % Tablet

Question Number : 1 Question Id : 2549896871 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ Sepole

2. % Sxhery



3. ¥ duciy

4. % ¢gcie

Question Number : 2 Question Id : 2549897247 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
'/bin" directory in Linux is related with which of the following types of files?

Options:

1. ¢ Executable file
2. * Library file

3. * Deuvice file

4. ® Temporary file

Question Number : 2 Question Id : 2549897247 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ GrelieRgead thigd
2. % T3S e

3. ¥ farsy g

4, % IO g

Question Number : 3 Question Id : 2549897581 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The computer abbreviation TB usually means' "

Options :

1. Tera Byte

2. * Tiny Byte

3. % Tetra Byte

4, # Theta Byte

Question Number : 3 Question Id : 2549897581 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¢ &1 a13c (Terabyte)
2. % fet @mge (Tiny Byte)
3. % 2gramge (Tetra Byte)

4. ® ffera13e (Theta Byte)

Question Number : 4 Question Id : 2549897839 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an example of a database?

Options :



1. # Telephone diary
2. ¥ Presentation created in MS-PowerPoint
3. # Data entered in MS-Excel spread sheet

4. % Data dictionary

Question Number : 4 Question Id : 2549897839 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ o St

2. ¥ MS-PowerPoint & g1 Usie™

3. ¥ MS Excel Tresfie § dex fopar mam Se1

4. % 31 feam=d

Question Number : 5 Question Id : 2549897921 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the hexadecimal color code for green.

Options :

1.+ #00FF0O
2. # #FF0O000
3. % #0000FF

4. % #FFFFFF



Question Number : 5 Question Id : 2549897921 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. #00FFOO
2. = #FFO000
3. * #0000FF

4. % #FFFFFF

Question Number : 6 Question Id : 2549898444 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the decimal equivalent of 3614?

Options:
1. % 39
2. % 93
3. %75

4. v 54

Question Number : 6 Question Id : 2549898444 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 39
2. % 03
3. %75

4. % 54

Question Number : 7 Question Id : 2549899346 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
keyboard shortcut is used to display online help in MS-Word 2019.

Options:
1. % F5
2. % F4
3. % F2

4. % F1

Question Number : 7 Question Id : 2549899346 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ F5
2. % F4

3. % F2



4.9 F1

Question Number : 8 Question Id : 25498930224 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What does STP stands for in transmission media?

Options :

1. ¢ Shielded Twisted Pair
2. % Shining Twisted Pair
3. #* Simple Twisted Pair

4. *# Storage Twisted Pair

Question Number : 8 Question Id : 25498930224 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ Shielded Twisted Pair (ficS€ gfaede UmR)
2. ¥ Shining Twisted Pair (3T gfawts )
3. # Simple Twisted Pair (RiueT gfaws TR)

4. ¥ Storage Twisted Pair (RS Zfawds tR)

Question Number : 9 Question Id : 25498930632 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Which computer architecture contains separate storage and separate buses (signal path) for

instruction and data?

Options :

1. # Von Neumann architecture
2. ¥ Harvard architecture

3. * Presper Eckert architecture

4. % Konrad Zuse architecture

Question Number : 9 Question Id : 25498930632 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ g9 YA sMfcheerr
2. ¥ gras SMTfchd R

3. ¥ U¥R Yehd 3TfchderR

4. ¥ PHIRIS SN 3MfchedFar

Question Number : 10 Question Id : 25498930675 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is INCORRECT about the sound card?

Options :

1. * Sound cards translates digital audio signals to analog ones, and analog audio signals to



digital ones
2. # Technically, a sound card is an optional component
3. ¥ Sound cards connected to the motherboard via a PCI or PCle card slot

4.+ Sound card is connected to the motherboard via USB port

Question Number : 10 Question Id : 25498930675 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ gris wrs fefiea siifeat e ot gareaT # SR gAraiT siffeat e ot f$fSieet # gigele sear gl
2. % Jopdich! ®U T, T3S dhTs Ueh dehicich Tceh gl

3. ® IS H1S PCI AT PCle TS Wiie & ATedH T Heals I S gid &

4. ¥ GI3S T USB UIE & A1eH ¥ Hexdte I ST 8ldr 8l

Question Number : 11 Question Id : 25498930985 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
is NOT a computer monitor.

Options :
1. % CRT
2. % LCD
3. ¥ OLED

4. ¥ VGA



Question Number : 11 Question Id : 25498930985 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. % CRT
2. # LCD

3. * OLED

4. ¥ VGA

Question Number : 12 Question Id : 25498933065 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The acoustic tablet, or spark tablet, uses a stylus that generates clicks with a:

Options:

1. % spark plug

2. % lighter

3. * electrical signal

4. ¥ electromagnetic current

Question Number : 12 Question Id : 25498933065 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3ThICeh el T WTeh eaeic B Yeh [IeATehT (TT3eTd) T IUANT fehat STraT g, St fAmfeifad & 4 fohadht oee @




forTag IUF AT 872

Options :

1. ¢ Wreh &

2. % 3R

3. ® Faifagenet et

4. % fogdqechia 4Ry

Question Number : 13 Question Id : 25498933192 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
In MS-Excel 2019, which function returns the number of whole workdays between two dates?

Options:

1. * NETDAYS.IN

2. # DAYS.TL

3. % WORKDAYS.INTL

4. ¥ NETWORKDAYS.INTL

Question Number : 13 Question Id : 25498933192 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ NETDAYS.IN

2. % DAYS.TL



3. ¥ WORKDAYS.INTL

4. ¥ NETWORKDAYS.INTL

Question Number : 14 Question Id : 25498933851 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
In context of signals, PCM stands for?

Options :

1. % Point Code Modulation
2. * Pulse Code Mode

3. ¢ Pulse Code Modulation

4. % Pulse Conversion Mode

Question Number : 14 Question Id : 25498933851 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. # Point Code Modulation (Gfge &€ AlgeM)
2. % Pulse Code Mode (Ucd i€ A1S)

3. ¢ Pulse Code Modulation (U4 hls AIgaiRM)

4. % Pulse Conversion Mode (Teg &=asf= Ats)

Question Number : 15 Question Id : 25498934845 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following rates defines the number of times electron beam scans screen in a second?

Options :
1. ¥ Refresh
2. # Pixel
3. % Repeat

4. * Transfer

Question Number : 15 Question Id : 25498934845 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ Ribar
2. % fUae
3. % Rdie

4, % TEH

Question Number : 16 Question Id : 2549898883 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The service allows you to log on to a remote machine on which you have your account.

Options :



1. ¥ Telnet
2. % FTP
3. % VSNL

4. % BSNL

Question Number : 16 Question Id : 2549898883 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ T
2. % FTP

3. % VSNL

4. % BSNL

Question Number : 17 Question Id : 2549899517 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Why does a jumbling (garbled) problem occur in laser printers while printing letters?

Options :

1. * The font s old.

2. ® The font is unavailable.

3. #* The font is language specific.

4. ¢ Incompatibility of printer driver



Question Number : 17 Question Id : 2549899517 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ i< QT8

2. ¥ i< AU g
3. ¥ i W77 fafAE |

4. ¢ iR SRR Fi 3Gt

Question Number : 18 Question Id : 25498910809 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
In laser printers, the drum unit transfers

Options :

1. % laser to the paper

2. * paper to the toner

3. ¥ ink particles to the paper

4. #® paper to the ink

Question Number : 18 Question Id : 25498910809 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ PHETST R o

2. % QR Pl AR W

3. ¥ FATSI IR WTg! &h Ul

4. % IR T

Question Number : 19 Question Id : 25498911115 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a hardware?

Options:

1. # Gateway
2. * Router

3. ¢ Dispatcher

4. % Modem

Question Number : 19 Question Id : 25498911115 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. % 7ed

2. % AKX



3. ¢ fe@=R

4. ¥ Oidq

Question Number : 20 Question Id : 25498911218 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Loudspeakers and microphones are

Options:

1. ®* equalisers
2. ¥ transducers
3. * amplifiers

4. % interpreters

Question Number : 20 Question Id : 25498911218 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % SeelIgeR
2. ¥ gieeER
3. ¥ YHAhRR

4, % vl

Question Number : 21 Question Id : 25498913415 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a method to compress and store audio?

Options :

1. % MP3 format
2. # MP7 format
3. ¥ MP13 format

4. % MP2 format

Question Number : 21 Question Id : 25498913415 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ MP3 tiHe
2. % MP7 wiHe
3. ¥ MP13 Wit

4. % MP2 hiHc

Question Number : 22 Question Id : 25498913495 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Lossy compression is the method which the data.

Options :



1. % compress
2. ¥ eliminate
3. * add

4. % decompress

Question Number : 22 Question Id : 25498913495 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % gUifed 2 (compress)
2. ¥ a1 (eliminate)

3. ® St (add)

4. % IHUTSa &2 (decompress)

Question Number : 23 Question Id : 25498913829 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

RSA is named for its inventors , and

Options :

1. ¥ Rivest, Shamir and Adleman

2. * Rock, Shane and Amozen

3. # Rock, Shamir and Adleman

4. * Rivest, Shane and Amozen



Question Number : 23 Question Id : 25498913829 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. # Rivest, Shamir and Adleman (Ra<, R 3R TeardA)
2. # Rock, Shane and Amozen (3ch, A 3R 3HIS)

3. # Rock, Shamir and Adleman (e, R 3R TSaHA)

4. % Rivest, Shane and Amozen (Ra¥e, 9 3R 3mHTS)

Question Number : 24 Question Id : 25498913854 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Data Encryption Standard (DES) is an implementation of a ____ cipher.

Options:

1. * Newton
2. # Richard
3. ¥ Feistel

4. % Garry

Question Number : 24 Question Id : 25498913854 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



a1 Uf<heH wWuss (DES) foret R (cipher) &1 U srafaa= 81
Options :

1. % 3

2. % R=ré

3. ¢ thieee

4. % 1Y

Question Number : 25 Question Id : 25498918541 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is display area from which you begin working in Windows XP?

Options:

1. ® Menu
2. % Icon

3. ¢ Desktop

4. # Pointer

Question Number : 25 Question Id : 25498918541 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ® #g (Menu)

2. ¥ 3m3ehd (Icon)



3. ¢ S&helT (Desktop)

4. ¥ gigex (Pointer)

Question Number : 26 Question Id : 25498922708 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Random Access Memory (RAM) is a:

Options:

1. ¢ volatile memory

2. #® read only memory
3. * non-volatile memory

4. # write-only memory

Question Number : 26 Question Id : 25498922708 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
359 T 99RY (RAM) &1 87

Options :

1. ¢ 3If@R (Volatile) AH<t

2. ¥ 3qe 3iiet AN

3. # @7 (Non volatile) A<t

4. % 8T 3Nl AHR

Question Number : 27 Question Id : 25498924006 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The number of pixels per unit of length on the computer screen is called

Options :

1. % resolution
2. % orientation
3. * viewing size

4. * colour combinations

Question Number : 27 Question Id : 25498924006 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ Refegeq
2. % 3nRkdesH
3. ¥ g aes

4, % e PRI

Question Number : 28 Question Id : 25498924305 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Services of an operating system can be accessed by the interface provided by:

Options :



1. ® device driver
2. ¥ system calls
3. # user command

4. % libraries

Question Number : 28 Question Id : 25498924305 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % f3a13g grER
2. ¥ R[AxA la
3. ¥ PR pAT-S

4. % Srgsit

Question Number : 29 Question Id : 25498924491 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is an file extension of Multiple Network Graphics?

Options :
1. % .mn
2. % mngd
3. % .ng

4. ¥ .mng



Question Number : 29 Question Id : 25498924491 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. % .mn
2. * .mngd
3. % .ng

4. % .mng

Question Number : 30 Question Id : 25498924587 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What is file extension of device drive file in Windows OS?

Options:
1. % .dv
2.% drv
3. % dr

4, % dff

Question Number : 30 Question Id : 25498924587 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % .dv
2. % drv
3. % dr

4. % dff

Question Number : 31 Question Id : 2549896462 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following represents the importance of proper manners and behavior online?

Options:

1. ¥ Netiquette
2. * Protocol
3. ¥ Regulation

4. % Etiquette

Question Number : 31 Question Id : 2549896462 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ dfade (netiquette)

2. % yetanid (protocol)

3. ¥ ueiF (regulation)



4, % gfedhe (etiquette)

Question Number : 32 Question Id : 2549896518 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the full form of URL?

Options :

1. % Uniform Resource Locator
2. * United Resource Link

3. # Unicast Retrieve Location

4. % Uniform Residence Link

Question Number : 32 Question Id : 2549896518 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
URL <hT QURSY oRIT 872

Options :

1. ¢ Uniform Resource Locator (Ithie R&T dlchex)
2. ¥ United Resource Link (gAT3es RE feih)

3. ¥ Unicast Retrieve Location (gteree Réla wichar)

4. % Uniform Residence Link (ZToiH {839 feidh)

Question Number : 33 Question Id : 2549896703 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
are separate external files that are sent along with your email message.

Options:

1. ¥ Attachments
2. % Parcels

3. * Options

4. % Signatures

Question Number : 33 Question Id : 2549896703 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ S¥riey

2. % grdeyg

v

3. % HARMY

4. % =R

Question Number : 34 Question Id : 2549896771 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The process of copying information to your computer from a specially configured FTP server is

called

Options :

1.+ downloading



2. * uploading
3. * deleting

4. % restoring

Question Number : 34 Question Id : 2549896771 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ SRS
2. ¥ et
3. ¥ f&efifdm

4, % &R

Question Number : 35 Question Id : 2549896995 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

are the end devices that convert the user information into signals or reconvert the received

signals.

Options :
1. DTEs
2. # DCEs

3. # Switch

4,



% Router

Question Number : 35 Question Id : 2549896995 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1.+ DTEs
2. # DCEs
3. % f&=g

4, #® A3

Question Number : 36 Question Id : 2549897456 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In which of the following modes does the existing text NOT move to the right when you type new

text in an MS-Word document?

Options :

1. * Insert

2. % Overtype
3. ® Edit

4. % Select

Question Number : 36 Question Id : 2549897456 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 3¢
2. ¥ 3eReTsy
3. % gfee

4. % Joioe

Question Number : 37 Question Id : 2549897729 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Every web site has a unique address, called ' .

Options :

1. # Hyperlink

2. ¥ Uniform Resource Locator
3. % HTTP

4. % Map

Question Number : 37 Question Id : 2549897729 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :



1. % grswifeiar (Hyperlink)
2. ¢ gfamH RER didhex (Uniform Resource Locator)
3. % HTTP

4. % #9 (Map)

Question Number : 38 Question Id : 2549897944 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Excel 2019, which keyboard shortcut is used to go to the Formula tab?

Options :
1. #® Alt+F
2. ¥ Alt+M
3. #* Shift+F

4. ® Ctrl+M

Question Number : 38 Question Id : 2549897944 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. % Alt+F
2. ¥ Alt+M
3. * Shift+F

4. % Ctrl+M



Question Number : 39 Question Id : 2549897990 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following scanners is used by the user to make payment in BHIM Aadhar Pay?
Options :

1.% CT

2. % MRI

3. ¥ Fingerprint

4. % Ultra

Question Number : 39 Question Id : 2549897990 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % CT
2. % MRI

3. ¢ fthRftie

4. % e

Question Number : 40 Question Id : 2549898971 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The' "is a decentralised network of millions of computers and computer networks.

Options:
1. ¥ internet
2. % LAN
3. % MAN

4, # intranet

Question Number : 40 Question Id : 2549898971 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ e
2. % LAN

3. * MAN

4, ® 3eMe

Question Number : 41 Question Id : 25498910433 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In MS-Word 2019, the keyboard shortcut SHIFT + F3 is capable of performing operations

simultaneously.

Options:
1. # five

2. = two



3. ¥ three

4. * four

Question Number : 41 Question Id : 25498910433 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % g
2. %

3.¢¥ d=

4. ® IR

Question Number : 42 Question Id : 25498910617 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the use of the 'spacebar' key in word documents?

Options :

1. ®* To Insert random number of blank area in the document
2. # Toinsert a horizontal line in the document

3. #* To insert line spacing in paragraphs

4. ¥ To insert a space character that separates words, sentences etc.

Question Number : 42 Question Id : 25498910617 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. # R<h T &I g preuf-ch T STagAe H 3TE I & folg
2. % Slqde & ua &fast a1 598 A & forg

3. ¥ IR H ATSHT oh 1= cRTet & o felg

4. ¥ Ueh WY higex ST oIl T&&], aTerdt 3111, bl Tl el |

Question Number : 43 Question Id : 25498910710 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
IPv6 was developed by?

Options :

1. ¥ IETF

2. % ISI

3. % ARPANET

4. * 0OSI

Question Number : 43 Question Id : 25498910710 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :



1. % IETF
2. % ISI
3. * ARPANET

4. % OSI

Question Number : 44 Question Id : 25498910729 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the area covered in a Metropolitan Area Network?

Options :

1.* Upto10m
2. % Upto 10 km
3. % Up to 50 km

4. % Up to 200 km

Question Number : 44 Question Id : 25498910729 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Adigifered TRAT Aeach fohd= &7 & S X Gohdl 87

Options :

1. % 10 mdeh
2. % 10 km d&n
3. ¥ 50 km d&

4. % 200 km T



Question Number : 45 Question Id : 25498911459 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is used in general as localhost IP address in networking systems?

Options :

1. % 0.0.0.127
2. % 1.0.0.127
3. # 127.0.0.0

4.+ 127.0.0.1

Question Number : 45 Question Id : 25498911459 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
e & @ frge Iugivn ammad: AcafdT Riwea § ditagie smedl ued & &g § faar Sirar 272

Options:

1. % 0.0.0.127
2. % 1.0.0.127
3. # 127.0.0.0

4.+ 127.0.0.1

Question Number : 46 Question Id : 25498911487 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

is a utility that helps one to check if a particular IP address is accessible or not.



Options :

1.+ Ping

2. * Traceroute
3. % WWW

4, # Route

Question Number : 46 Question Id : 25498911487 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ f1 (ping)

2. ® ¥g%c (traceroute)
3. % www

4. ¥ 73K (route)

Question Number : 47 Question Id : 25498911918 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Word 2019, which keyboard shortcut is used to justify the paragraph?

Options :
1. % Alt+)
2. ¥ Ctrl+)

3. # Shift+)



4. % Fn+

Question Number : 47 Question Id : 25498911918 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. % Alt+]
2. ¥ Ctrl+
3. # Shift+

4. % Fn+|

Question Number : 48 Question Id : 25498911969 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In which of the following groups of Home tab in MS-Word 2019 will you find the option to change

the alignment to 'justified"?

Options :
1. % Paragraph
2. * Clipboard
3. * Font

4, % Styles

Question Number : 48 Question Id : 25498911969 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ &R H
2. ¥ fRuais |
3. % i H

4, % EEH

Question Number : 49 Question Id : 25498912504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following commands is used to delete Header or Footer from the first page MS-Word

20197

Options :

1. # Link to previous
2. * Next section

3. ¥ Quick parts

4. + Different first page

Question Number : 49 Question Id : 25498912504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :



1. # foier g AT
2. ¥ JoRe QoA
3. ¥ faqeh Uiy

4, ¥ TS BE Ust

Question Number : 50 Question Id : 25498919163 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

To delete electronic postage in the envelope in mail merge, checkbox has to be cleared

in MS-Word 2019.

Options :

1. # postage

2. ¥ add electronic postage
3. ¥ electronic stamps

4. % postage stamps

Question Number : 50 Question Id : 25498919163 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ OIS

2. ¢ U8 Fataeli-ah TS



3. ¥ Felagi-ich WF

4, ¥ OIS ey

Question Number : 51 Question Id : 25498932144 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following internet service allows the internet users to talk across internet to any PC

equipped to receive the call?

Options:

1. # Instant Messaging

2. ¥ Internet Telephony (VoIP)
3. * Mailing Lists

4. % Internet Relay Chat (IRC)

Question Number : 51 Question Id : 25498932144 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® e AT (Instant Messaging)

2. ¢ gee eftmiHt (VoIP) (Internet Telephony (VoIP))
3. ¥ $A gl (mailing list)

4. ® 3exe Ret de (Smg3md) (Internet Relay Chat (IRC))



Question Number : 52 Question Id : 25498933771 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Snapdragon processor is developed by which of the following companies?

Options :

1.4 Qualcomm
2. % Apple

3. % HP

4. * Intel

Question Number : 52 Question Id : 25498933771 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¢ Faradad (Qualcomm)

2. % gwd (Apple)
3. % gg g (HP)
4. % 34 (Intel)
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: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)

Read the given passage and answer the questions.

It is said that the Coca-Cola bottle is the most recognised object in the world as people know and
drink Coca-Cola all over the world. Hundreds of millions of people can recognise a Coke bottle by
its shape, even if they cannot see it. And the famous Coca-Cola logo is the most famous logo in the

world. Unlike any other famous commercial logos, it has not changed in 100 years!

But the story of Coca-Cola is even older than that. It was in 1886 that John Pemberton, a chemist in
Atlanta, Georgia, invented a new type of syrup, using coca leaves, sugar and cola nuts, plus a few

other secret ingredients. Pemberton sold it as a medicine.
Pemberton sold his secret formula to another chemist, Asa Candler. Candler was interested,
because he had another idea; he thought that Pemberton's ‘medicine’ would be much better if it

was mixed with soda.

Candler was thus the man who really invented the drink Coca-Cola. At first, he sold it in his



drugstore; then he began selling the syrup to other drugstores, which used it with their soda
fountains. Before long, other people became interested in the product, including a couple of
businessmen who wanted to sell it in bottles. Candler sold them a licence to bottle the drink, and
very quickly the men became millionaires. The famous bottle, with its very distinctive shape, was

designed in 1916.

During the First World War, American soldiers in Europe began asking for Coca-Cola, so the Coca-
Cola company began to export the drink to Europe. It was so popular with the soldiers that they

then had to start bottling the drink in Europe.

Today, Coca-Cola is made in countries all over the world, including Russia and China; it is the

world's most popular drink.

As for the famous formula, it is probably the world's most valuable secret! The exact ingredients
for making Coca-Cola are only known to a handful of people. And as for the ‘coca’ that was in the
original drink, that was eliminated in 1903. It was a drug, and too dangerous. Today's Coca-Cola

contains caffeine, but not cocaine!

Sub questions

Question Number : 53 Question Id : 25498921278 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Why is the Coca-Cola bottle the most recognised object in the world?

Options :

1. * The bottle has a unique shape.

2. ¥ Millions of people drink Coca-Cola.

3. # The Coca-Cola logo has not changed.

4. * The bottle was designed in 1916.

Question Number : 54 Question Id : 25498921279 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In its initial days, Coca-Cola was sold as a:

Options :
1. * syrup
2. ¥ soda
3. ¥ medicine

4. % drink

Question Number : 55 Question Id : 25498921280 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Candler was the man who made Coca-Cola a drink by adding into it.

Options:
1. % soda
2. ® nuts
3. ® sugar

4. * |eaves

Question Number : 56 Question Id : 25498921281 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The ‘coca’ in the original drink was removed in 1903 because:

Options :



1. # it did not taste good
2. ¥ it was dangerous for people
3. # people liked the caffeine taste more

4. % soda had to be added to it

Question Number : 57 Question Id : 25498921282 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

“It was so popular with soldiers that they then had to start bottling the drink in Europe”. In this

sentence who does ‘they’ refer to?

Options :

1. * The American soldiers
2. * The Europeans

3. ¥ The Coca-Cola company

4. * The soldiers fighting in World War I

Question Id : 25498921277 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
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Question Number : 53 Question Id : 25498921278 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 54 Question Id : 25498921279 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % U
2. % giar
3.¥aar

4. % 4g

Question Number : 55 Question Id : 25498921280 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. ¢ grer
2. % dc

3. ®

4. % g
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Question Number : 58 Question Id : 25498928831 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the number that does NOT belong to the following series.
33, 321, 465, 537, 573, 590, 600

Options:

1. % 321

2. # 465

3. # 573

4. % 590

Question Number : 58 Question Id : 25498928831 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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33, 321, 465, 537, 573, 590, 600

Options :

| % 321

, % 465

5 % 573

4 v 590

Question Number : 59 Question Id : 25498928846 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The sum of twice a number and three times of 42 is 238. What is the sum of thrice the number and

two times of 42?

Options :
1. % 245
2. % 250
3. % 264

4. 252

Question Number : 59 Question Id : 25498928846 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
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Options :

| % 245

5 % 250

5 % 264

4 v 252

Question Number : 60 Question Id : 25498928909 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Akash scored 73 marks in subject A. He scored 56% marks in subject B and X marks in subject C.
The maximum marks in each subject were 150. The overall percentage of marks obtained by

Akash in all the three subjects together was 54%. How many marks did he score in subject C?

Options :
1. % 84
2.v¥ 86
3. %79

4. % 73

Question Number : 60 Question Id : 25498928909 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

| % 84

2 « 86

3 % 79

4% 73

Question Number : 61 Question Id : 25498929109 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Find the average of the first ten multiples of 8.

Options:
1. % 40
2. % 41
3. % 42

4. 44

Question Number : 61 Question Id : 25498929109 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
8 oh UYUH & T[UTST Rl SEd T ghT?

Options :
1. % 40
> = 41

3, % 42

4 v 44

Question Number : 62 Question Id : 25498929419 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If x* + 6x2 — 1 = 0, then the value of x® — 3x% + % —xih + 1is;
Options:
| 217

—216

o —215

216



Question Number : 62 Question Id : 25498929419 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

3 1
afe x*46x2 -1 =0 g, a x5—3x2—l—x—2—ﬁ—|—1 T AT FIT g2
Options :

1 % 217

> % —216

4 % 216

Question Number : 63 Question Id : 25498929534 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

On selling an article A at 5% gain and B at 10% gain, a shopkeeper gains ¥21. If he sells A at 15%
gain and B at 5% loss, he gains ¥10.50. The difference (in ¥) in the original prices of A and B is:

Options :
1.+ 330
2. % 332
3. # 36

4. % %40

Question Number : 63 Question Id : 25498929534 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 4330
2. % %32
3. %336
4. % 340
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Question Number : 64 Question Id : 25498910139 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is related to

the first word.

Blunt : Sharp :: Sow :?
Options :

1. * Water

2. % Crow

3. % Farm

4. ¥ Reap

Question Number : 64 Question Id : 25498910139 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Pa ; URGR :: IS © ?
Options :
1. % gt
2. % e
3. % ¥d

4. & peTs



Question Number : 65 Question Id : 25498912910 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The following question is based on the given English alphabet.

ABCDEFGHIJKLMNOPQRSTUVWXYZ

If only the first half of the given alphabet is reversed, how many letters will be there between K

and R?

Options :
1.%6
2. %10
3.¥14

4. % 16

Question Number : 65 Question Id : 25498912910 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1.%6
2. %10
3.¥14

4. % 16



Question Number : 66 Question Id : 25498919024 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the word from the options that is similar to the given set of words in a certain way.
Norway, Poland, Spain

Options :

1.+ France

2. % Rome

3. % Kenya

4, * Tokyo

Question Number : 66 Question Id : 25498919024 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. ¥ Whig
2. % 39

3. % &

4. & At

Question Number : 67 Question Id : 25498919854 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different.

Select the word that is different.

Options :
1. * Mother
2. ¥ Friend
3. % Sister

4. * Father

Question Number : 67 Question Id : 25498919854 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % Hidm
2. ¢ fo
3. % dgd

4. % foar
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Two statements P and Q are given. Look into their logical acceptability and select the answer from



the following options.

P: All B's are A’s. All C's are B's. Therefore, all C's are A's.

Q: All C's are A's. Some B's are C's. Therefore, all B's are A's.

Options :

1. # Both P and Q are correct.

2. % Pis correct and Q is incorrect.
3. # Pisincorrect and Q is correct.

4. % Both P and Q are incorrect.

Question Number : 68 Question Id : 25498939935 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % P 3R Qi wgl 8
2. P Hgl g 3R Q TTefd B
3. % Peid § 3R Q wWal &

4. % P 3R Q aHI 7Terd &1

Question Number : 69 Question Id : 25498940042 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Find the number of triangles in the given figure.

Options :
1. % 11
2. %13
3.415

4. ®# 17

Question Number : 69 Question Id : 25498940042 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 11

2. %13

3.¥ 15



4. % 17
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Who defended Aurobindo Ghosh in the Alipore Bomb Case?

Options :
1. ® WC Banerjee

2. # Surendranath Bannerjee



3. # Bipin Chandra Pal

4. + Chittaranjan Das

Question Number : 70 Question Id : 2549895982 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Soog &Y il
2. ¥ LAY S
3. # faf <ig uret

4., ¢ RIas <™

Question Number : 71 Question Id : 2549899658 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is the longest irrigation canal in India as of October 2021?

Options :

1. # Yamuna canal

2. * Sirhind canal

3. ¢ Indira Gandhi canal

4. % Upper Bari Doab canal

Question Number : 71 Question Id : 2549899658 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® gHAT I8

2. % wfge Tex
3. ¢ gfexr el g

4. % U IR SIS g

Question Number : 72 Question Id : 25498912554 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What causes dough (a mixture of flour, water, etc.) to rise when yeast is added to it?

Options :

1. * Anincrease in temperature

2. ¥ An increase in the amount of the substance
3. # Anincrease in the number of yeast cells

4. ¥ Release of carbon dioxide gas

Question Number : 72 Question Id : 25498912554 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :



1. % groHE | gfg h Rl
2. % fAgror & A6 A gieg o RRoT

3. ¥ i hl ifAhredt G T # gieg & dRoT

4. + H1e S8 3TATSS o Iguid (RefisT) 819 & &hRor
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is also known as green protozoa?

Options :

1. # Amoeba

2. ¥ Paramoecium
3. # Leishmania

4.+ Euglena

Question Number : 73 Question Id : 25498922825 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
7 # 9 foRg g=1 Tietsirat (Green protozoa) *ff &g ST 872

Options :
1. % e
2. % Rrfifrs

3. # dAfAar



4. & T

Question Number : 74 Question Id : 25498932112 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Who was Yves Saint Laurent ?

Options :

1. # Afilm director from the US

2. * The first man to go on a Mars mission
3. ¥ Arenowned fashion designer

4. ® An internationally renowned financial expert

Question Number : 74 Question Id : 25498932112 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Tdg de e (Yves Saint Laurent) @i &?

Options :

1. ¥ gud & Top fthen FAGeTeR

2. ¥ Hiret fAF R S aTel uget eafh
3. ¥ T uflig ther fess R

4, % AR TR R UAg U A< fasivs
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:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
The articles of the Constitution of India that deal with the directive principles of state policy are:

Options:

1. % 26 to 41
2. % 30to 45
3. ¥ 361051

4. % 40to 55

Question Number : 75 Question Id : 25498932606 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 26T 41
2. % 30945
3.¥ 36951
4, % 40955
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Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and

responsible living and more. It aids the overall development of a child and children have fun



during this process as they get to explore new arenas.
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Leadership is one of those characteristics of a successful person that is never inherited but
learned and imbibed. It can safely be said that having leadership skills is important to run
this world. Leadership is defined by how well one leads a team into the goals and objectives
set by them. Leadership is also defined by the clarity and quality of goals that they set for
their followers. It is not easy being a leader. A leader is simply not someone who will please
everyone on their way. A leader is someone who has the courage and intent of mind to take
tough decisions even if it means harm to their popularity but is in the direction of fulfilling
the goals for a greater good. Not all leaders are loved by their followers. There will always
be some in the population who will not be happy with the leader or their decisions and style
of leadership. If a leader tries to please everyone in the population then they will become
gullible and be known as a weak leader. When you see a strong leader on television or hear
their speeches elsewhere you will always see them oozing with confidence and vigour. This
is an important trait that every leader should have. If a leader themself is not confident
about their decisions then how can they expect their followers to have confidence in them.
To be a good leader they should be aware of all the human idiosyncrasies and spectrum and

complexities of life in society. They should be empathetic and at the same time should have



the ability to take strong and necessary decisions even if it means they will become
unpopular. Troubling and conflicting times are what makes for a good leader. Source of
inspiration from a leader can come from various domains and corners of their life be it their
persona or background or competency. Nelson Mandela inspires his followers because of all
the sacrifices that he made in his life. Barack Obama inspires his followers by his humble
beginnings. Mahatma Gandhi inspires his followers by his beliefs and principles. There
should be a Unique Selling Point in a leader for his or her followers to get inspired and
motivated. A leader needs to have a clear cut clarity of mind. The decisions they take are
based on their intentions and objectives. There can be many hurdles that they might face
during the journey but nevertheless they should not lose clarity and focus on the goal that
they are trying to achieve. A clear cut clarity will give a sense of confidence among the
followers and make them feel that their leader knows what they are doing. A leader is
someone who will inspire and give a sense of purpose and direction to their followers. A
leader will have to face many hurdles in life from various sections including their own
followers. But there comes a point where a leader should choose between their followers
and achieving goals for collective good. And that is where the true test for a leader comes
into the picture. The ability to inspire people and make them fall in love with their
ideologies and goals is a testament for a good leadership quality especially when there are

troubling times during their tenure.
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